

O. O. KURCHENKO AND O. O. SYNIAVSKA

## CONSISTENT ESTIMATES OF THE PARAMETERS OF THE MULTIPARAMETER FRACTIONAL BROWNIAN MOTION

The consistent estimators of the multiplicative parameter  $c$  and Hurst parameter  $H$  of the covariance function of the multiparameter fractional Brownian motion are constructed.

### 1. INTRODUCTION

The multiparameter fractional Brownian Motion (MFBM) is a multiparameter Gaussian random process  $\{X_H(t), t = (t_1, \dots, t_d)\}$  with zero mean and covariance function

$$(1) \quad r(t, s) = \frac{c}{2} \left( \|t\|^{2H} + \|s\|^{2H} - \|t - s\|^{2H} \right), t, s \in R^d,$$

where  $\|t\| = \sqrt{t_1^2 + \dots + t_d^2}$  is the Euclidean norm of vector  $t = (t_1, \dots, t_d)$ ,  $H \in (0, 1)$  is the Hurst parameter,  $c > 0$  is a multiplicative parameter. In the case of  $d = 1, c = 1$  this is the fractional Brownian Motion with Hurst parameter  $H$  [5].

MFBM was studied by many authors. Thus the Hausdorff measure and multiple points of the trajectories of MFBM are studied in the articles [6],[7]. The series expansion of the MFBM is obtained in [4]. The problem of estimating the Hurst parameter arises in applied models, is relevant and attracts the attention of many scientists in the field of statistics. Thus, in the article [3] the strong consistent estimate of the Hurst parameter  $H$  of the MFBM is constructed by using the Levy–Baxter theorems.

The problem of estimating the parameters  $c, H$  of fractional Brownian motion based on observations with errors was studied in article [1].

### 2. PROBLEM STATEMENT

Observing fractional Brownian field  $\{X(t_1, t_2), (t_1, t_2) \in R^2\}$  at the points

$$\{(k, j) \in \{0, 1, \dots, n\}\}, n \geq 1,$$

we need to estimate the unknown parameters of the covariance function (1), such as the multiplicative parameter  $c > 0$  and Hurst parameter  $H \in (0, 1)$ .

For  $k, j \geq 1$  we put

$$(2) \quad \Delta_1 X(k, j) = X(k, j) - X(k - 1, j),$$

$$(3) \quad \Delta X(k, j) = X(k - 1, j - 1) - X(k - 1, j) - X(k, j - 1) + X(k, j).$$

These increments of the stochastic field can be written as:

$$(4) \quad \Delta_1 X(k, j) = \sum_{\alpha=0}^1 (-1)^\alpha X(k - \alpha, j),$$

---

2000 *Mathematics Subject Classification.* Primary 60G15; Secondary 62F12.

*Key words and phrases.* multiparameter fractional Brownian field, Hurst parameter, covariance function, consistent estimate.

$$(5) \quad \Delta X(k, j) = \sum_{\alpha, \beta=0}^1 (-1)^{\alpha+\beta} X(k - \alpha, j - \beta).$$

To obtain consistent estimates of the multiplicative parameter  $c$  and Hurst parameter  $H$  of the covariance function of the multiparameter fractional Brownian motion, we use the following statistics:

$$(6) \quad S_n^{(1)} = \frac{1}{n^2} \sum_{k, j=1}^n (\Delta_1 X(k, j))^2,$$

$$(7) \quad S_n^{(2)} = \frac{1}{n^2} \sum_{k, j=1}^n (\Delta X(k, j))^2.$$

### 3. CALCULATION OF MEANS AND VARIANCES OF STATISTICS $S_n^{(1)}, S_n^{(2)}$

**Lemma 3.1.** *The expected values of statistics  $S_n^{(1)}, S_n^{(2)}$  are equal to*

$$(8) \quad ES_n^{(1)} = c,$$

$$(9) \quad ES_n^{(2)} = 2c(2 - 2^H).$$

*Proof.* To calculate the means of the squares of the increments (4)–(5) we apply the formula (1) for the covariance function. For every  $k, j \geq 1$  we get:

$$\begin{aligned} E(\Delta_1 X(k, j))^2 &= E\left(\sum_{\alpha_1, \alpha_2=0}^1 (-1)^{\alpha_1+\alpha_2} X(k - \alpha_1, j) X(k - \alpha_2, j)\right) = \\ &= -\frac{c}{2} \sum_{\alpha_1, \alpha_2=0}^1 (-1)^{\alpha_1+\alpha_2} |\alpha_1 - \alpha_2|^{2H} = c; \\ E(\Delta X(k, j))^2 &= E\left(\sum_{\alpha_1, \beta_1=0}^1 (-1)^{\alpha_1+\beta_1} X(k - \alpha_1, j - \beta_1) \times \right. \\ &\quad \left. \times \sum_{\alpha_2, \beta_2=0}^1 (-1)^{\alpha_2+\beta_2} X(k - \alpha_2, j - \beta_2)\right) = \\ &= -\frac{c}{2} \sum_{\alpha_1, \beta_1=0}^1 (-1)^{\alpha_1+\beta_1} \sum_{\alpha_2, \beta_2=0}^1 (-1)^{\alpha_2+\beta_2} ((\alpha_1 - \alpha_2)^2 + (\beta_1 - \beta_2)^2)^H = 2c(2 - 2^H). \end{aligned}$$

Therefore, we obtain equalities (8)–(9). The Lemma is proved.  $\square$

**Lemma 3.2.** *The variances of statistics  $S_n^{(1)}, S_n^{(2)}$  are equal to:*

$$(10) \quad Var S_n^{(1)} = \frac{2}{n^4} \sum_{k_1, j_1=1}^n \sum_{k_2, j_2=1}^n (E(\Delta_1 X(k_1, j_1) \Delta_1 X(k_2, j_2)))^2,$$

$$(11) \quad Var S_n^{(2)} = \frac{2}{n^4} \sum_{k_1, j_1=1}^n \sum_{k_2, j_2=1}^n (E(\Delta X(k_1, j_1) \Delta X(k_2, j_2)))^2.$$

*Proof.* For the expected value of the product of random variables  $\eta_1, \eta_2, \eta_3, \eta_4$ , which have a compatible Gaussian distribution with zero mean the next formula holds true

$$E\eta_1\eta_2\eta_3\eta_4 = E(\eta_1\eta_2)E(\eta_3\eta_4) + E(\eta_1\eta_3)E(\eta_2\eta_4) + E(\eta_1\eta_4)E(\eta_2\eta_3).$$

This formula is called the Isserlis formula. It is a partial case of the formula for the expected value of the product of an even number of random variables with zero means and jointly Gaussian distribution [2].

For the statistics  $S_n^{(1)}$  the variance is calculated as follows

$$\begin{aligned} \text{Var}S_n^{(1)} &= E\left(S_n^{(1)}\right)^2 - \left(ES_n^{(1)}\right)^2 = \\ &= \frac{1}{n^4} \sum_{k_1, j_1=1}^n \sum_{k_2, j_2=1}^n \left( E\left((\Delta_1 X(k_1, j_1))^2\right) (\Delta_1 X(k_2, j_2))^2 \right) - \\ (12) \quad & - E(\Delta_1 X(k_1, j_1))^2 E(\Delta_1 X(k_2, j_2))^2 \Big). \end{aligned}$$

Since the multiparameter fractional Brownian motion is a Gaussian random field with zero mean, then the random vector

$$(\Delta_1 X(k_1, j_1), \Delta_1 X(k_1, j_1), \Delta_1 X(k_2, j_2), \Delta_1 X(k_2, j_2))$$

has a jointly Gaussian distribution with zero mean. In the Isserlis formula, we put  $\eta_1 = \eta_2 = \Delta_1 X(k_1, j_1)$ ,  $\eta_3 = \eta_4 = \Delta_1 X(k_2, j_2)$  and get an equality

$$\begin{aligned} \left( E\left((\Delta_1 X(k_1, j_1))^2\right) (\Delta_1 X(k_2, j_2))^2 \right) - E(\Delta_1 X(k_1, j_1))^2 E(\Delta_1 X(k_2, j_2))^2 &= \\ &= 2(E(\Delta_1 X(k_1, j_1)\Delta_1 X(k_2, j_2)))^2. \end{aligned}$$

From this equality and equality (12) the equality (10) follows. Similarly, the equality (11) is proved. The Lemma is proved.  $\square$

**Lemma 3.3.** *For the variance of the statistic  $S_n^{(1)}$ , the following upper estimate holds:*

- for  $H \in (0, \frac{1}{2})$ :

$$\text{Var}S_n^{(1)} \leq \frac{8c^2}{n} + \frac{16c^2H^2}{n^2} \sum_{p, q=1}^{\infty} \frac{1}{(p^2 + q^2)^{2-2H}};$$

- for  $H = \frac{1}{2}$ :

$$\text{Var}S_n^{(1)} \leq \frac{8c^2}{n} + \frac{16c^2H^2}{n^2} \left(1 + \frac{\pi}{2} \ln(n\sqrt{2})\right);$$

- for  $H \in (\frac{1}{2}, 1)$ :

$$\text{Var}S_n^{(1)} \leq \frac{8c^2}{n} + \frac{16c^2H^2}{n^2} \left(1 + \frac{2^{2H-2}\pi}{(4H-2)n^{2-4H}}\right).$$

*Remark 3.1.* A double series  $\sum_{p, q=1}^{\infty} \frac{1}{(p^2 + q^2)^\gamma}$  converges for  $\gamma > 1$ .

*Proof.* Let us prove Lemma 3.3. For a natural number  $n$ , we put  $C_n = \{1, 2, \dots, n\}^4$ ,

$$A_n = \{(k_1, j_1, k_2, j_2) \in C_n \mid |k_2 - k_1| \leq 1 \text{ or } |j_2 - j_1| = 0\},$$

$$B_n = \{(k_1, j_1, k_2, j_2) \in C_n \mid |k_2 - k_1| \geq 2 \text{ or } |j_2 - j_1| \geq 1\}.$$

Note that  $A_n \cup B_n = C_n$ ,  $A_n \cap B_n = \emptyset$ . Denote by  $\text{card}(M)$  the number of elements of the finite set  $M$ . Let us count the number of elements of the set  $B_n$ . We have:

$$\text{card}\{(k_1, k_2) \in \{1, 2, \dots, n\}^2 \mid |k_2 - k_1| \geq 2\} = n^2 - 3n + 2,$$

$$\text{card}\{(j_1, j_2) \in \{1, 2, \dots, n\}^2 \mid |j_2 - j_1| \geq 1\} = n^2 - n,$$

hence

$$\begin{aligned} \text{card}(B_n) &= (n^2 - 3n + 2)(n^2 - n), \\ \text{card}(A_n) &= n^4 - \text{card}(B_n) = 4n^3 - 5n^2 + 2n \leq 4n^3, n \geq 1. \end{aligned}$$

Divide the amount on the right-hand side of equation (10) into two amounts. The first sum will include terms with summation indexes  $(k_1, j_1, k_2, j_2) \in A_n$ , and the second sum with summation indexes  $(k_1, j_1, k_2, j_2) \in B_n$ :

$$\begin{aligned} \text{Var}S_n^{(1)} &= \frac{2}{n^4} \sum_{(k_1, j_1, k_2, j_2) \in A_n} (E(\Delta_1 X(k_1, j_1) \Delta_1 X(k_2, j_2)))^2 + \\ (13) \quad &+ \frac{2}{n^4} \sum_{(k_1, j_1, k_2, j_2) \in B_n} (E(\Delta_1 X(k_1, j_1) \Delta_1 X(k_2, j_2)))^2. \end{aligned}$$

Let us apply the Cauchy–Buniakovsky inequality to estimate the first sum for the mathematical expectation  $E(\Delta_1 X(k_1, j_1) \Delta_1 X(k_2, j_2))$ :

$$(E(\Delta_1 X(k_1, j_1) \Delta_1 X(k_2, j_2)))^2 \leq E(\Delta_1 X(k_1, j_1))^2 E(\Delta_1 X(k_2, j_2))^2.$$

In the proof of Lemma 3.1, it was established for every  $k, j \geq 1$  that  $E(\Delta_1 X(k, j))^2 = c$ . Then

$$(E(\Delta_1 X(k_1, j_1) \Delta_1 X(k_2, j_2)))^2 \leq c^2$$

and

$$(14) \quad \frac{2}{n^4} \sum_{(k_1, j_1, k_2, j_2) \in A_n} (E(\Delta_1 X(k_1, j_1) \Delta_1 X(k_2, j_2)))^2 \leq \frac{2c^2}{n^4} \text{card}(A_n) \leq \frac{8c^2}{n}.$$

Estimation of the second sum of equality (13) is more complicated. First, we calculate the expectation of the product of random variables  $\Delta_1 X(k_1, j_1), \Delta_1 X(k_2, j_2)$ ,  $k, j \geq 1$ . Using formula (1) for the covariance function, we obtain:

$$\begin{aligned} E(\Delta_1 X(k_1, j_1) \Delta_1 X(k_2, j_2)) &= \sum_{\alpha, \beta=0}^1 (-1)^{\alpha+\beta} E(\Delta_1 X(k_1 - \alpha, j_1) \Delta_1 X(k_2 - \beta, j_2)) = \\ &= \frac{c}{2} \sum_{\alpha, \beta=0}^1 (-1)^{\alpha+\beta} \left( ((k_1 - \alpha)^2 + j_1^2)^H + ((k_2 - \beta)^2 + j_2^2)^H - \right. \\ &\quad \left. - ((k_1 - \alpha - k_2 + \beta)^2 + (j_1 - j_2)^2)^H \right) = \\ &= \frac{c}{2} \left( ((k_1 - k_2 - 1)^2 + (j_1 - j_2)^2)^H - 2((k_1 - k_2)^2 + (j_1 - j_2)^2)^H + \right. \\ &\quad \left. + ((k_1 - k_2 + 1)^2 + (j_1 - j_2)^2)^H \right). \end{aligned}$$

Further,

$$\begin{aligned} &\sum_{(k_1, j_1, k_2, j_2) \in B_n} (E(\Delta_1 X(k_1, j_1) \Delta_1 X(k_2, j_2)))^2 = \\ &= \frac{c^2}{4} \sum_{(k_1, j_1, k_2, j_2) \in B_n} \left( ((k_1 - k_2 - 1)^2 + (j_1 - j_2)^2)^H - 2((k_1 - k_2)^2 + (j_1 - j_2)^2)^H + \right. \\ (15) \quad &\left. + ((k_1 - k_2 + 1)^2 + (j_1 - j_2)^2)^H \right)^2. \end{aligned}$$

For  $(k_1, j_1, k_2, j_2) \in B_n$ , let us put  $p = k_1 - k_2, q = j_1 - j_2$ ;  $2 \leq |p| \leq n - 1, 1 \leq |q| \leq n - 1$ . The system of equations

$$\begin{cases} k_1 - k_2 = p, \\ j_1 - j_2 = q \end{cases}$$

with respect to  $(k_1, j_1, k_2, j_2) \in B_n$  has  $(n - |p|) \cdot (n - |q|)$  solutions. Therefore

$$\begin{aligned}
 \Sigma_{B_n} &:= \sum_{(k_1, j_1, k_2, j_2) \in B_n} (E(\Delta_1 X(k_1, j_1) \Delta_1 X(k_2, j_2)))^2 = \\
 &= \frac{c^2}{2} \sum_{|p|=2}^{n-1} \sum_{|q|=1}^{n-1} (n - |p|) (n - |q|) \left( ((p-1)^2 + q^2)^H - 2(p^2 + q^2)^H + \right. \\
 &\quad \left. + ((p+1)^2 + q^2)^H \right)^2 = 2c^2 \sum_{p=2}^{n-1} \sum_{q=1}^{n-1} (n-p) (n-q) \left( ((p-1)^2 + q^2)^H - \right. \\
 (16) \quad &\quad \left. - 2(p^2 + q^2)^H + ((p+1)^2 + q^2)^H \right)^2.
 \end{aligned}$$

The expression

$$((p-1)^2 + q^2)^H - 2(p^2 + q^2)^H + ((p+1)^2 + q^2)^H$$

is an increment of the second order of the function  $f(x) = (x^2 + q^2)^{2H}$ ,  $x \geq 1$  on the interval  $[p-1, p+1]$ . Thus, there is an intermediate point  $\theta_p \in (p-1, p+1)$  such that

$$f(p-1) - 2f(p) + f(p+1) = f''(\theta_p).$$

A second derivative of the function  $f$

$$(17) \quad f''(x) = 2H((2H-1)x^2 + q^2)(x^2 + q^2)^{H-2}, x \geq 1.$$

It follows from equalities (15), (16) that

$$(18) \quad \Sigma_{B_n} = 8c^2 H^2 \sum_{p=2}^{n-1} \sum_{q=1}^{n-1} (n-p) (n-q) \frac{((2H-1)\theta_p^2 + q^2)^2}{(\theta_p^2 + q^2)^{4-2H}}.$$

Since  $n-p < n$ ,  $n-q < n$ ,  $|(2H-1)\theta_p^2 + q^2| \leq \theta_p^2 + q^2$ , then

$$\begin{aligned}
 \Sigma_{B_n} &\leq 8c^2 H^2 n^2 \sum_{p=2}^{n-1} \sum_{q=1}^{n-1} \frac{1}{(\theta_p^2 + q^2)^{2-2H}} \\
 &\leq 8c^2 H^2 n^2 \sum_{p=2}^{n-1} \sum_{q=1}^{n-1} \frac{1}{((p-1)^2 + q^2)^{2-2H}} \leq \\
 (19) \quad &\leq 8c^2 H^2 n^2 \sum_{p=1}^{n-2} \sum_{q=1}^{n-1} \frac{1}{(p^2 + q^2)^{2-2H}}.
 \end{aligned}$$

For  $H \in (0, \frac{1}{2})$ , the double series  $\sum_{p,q=1}^{\infty} \frac{1}{(p^2+q^2)^{2-2H}}$  converges, since  $2-2H > 1$ . So, in this case

$$(20) \quad \Sigma_{B_n} \leq 8c^2 H^2 n^2 \sum_{p,q=1}^{\infty} \frac{1}{(p^2 + q^2)^{2-2H}}.$$

Now let  $H \in [\frac{1}{2}, 1)$ . Then we have:

$$\sum_{p,q=1}^{n-1} \frac{1}{(p^2 + q^2)^{2-2H}} = \frac{1}{2^{2-2H}} + \sum_{\substack{p,q=1, \\ p+q > 2}}^{n-1} \frac{1}{(p^2 + q^2)^{2-2H}}.$$

The first term on the right-hand side of the last equality does not exceed 1. We estimate the second term using a double integral. We have:

$$(21) \quad \sum_{\substack{p,q=1, \\ p+q>2}}^{n-1} \frac{1}{(p^2 + q^2)^{2-2H}} \leq \iint_{\substack{1 \leq x^2 + y^2 \leq 2n^2, \\ x \geq 0, y \geq 0}} \frac{dxdy}{(x^2 + y^2)^{2-2H}}.$$

We calculate the double integral in the right-hand side of inequality (21) using the transition to the polar coordinate system. For  $H = \frac{1}{2}$ :

$$(22) \quad \iint_{\substack{1 \leq x^2 + y^2 \leq 2n^2, \\ x \geq 0, y \geq 0}} \frac{dxdy}{x^2 + y^2} = \frac{\pi}{2} \int_1^{n\sqrt{2}} \frac{dr}{r} = \frac{\pi}{2} \ln(n\sqrt{2}).$$

If  $H \in (\frac{1}{2}, 1)$ , then

$$(23) \quad \iint_{\substack{1 \leq x^2 + y^2 \leq 2n^2, \\ x \geq 0, y \geq 0}} \frac{dxdy}{(x^2 + y^2)^{2-2H}} = \frac{\pi}{2} \int_1^{n\sqrt{2}} \frac{dr}{r^{3-4H}} < \frac{\pi}{2} \cdot \frac{2^{2H-1}}{4H-2} \cdot \frac{1}{n^{2-4H}}.$$

From the relations (13), (14), (20)–(23) it follows the statement of Lemma 3.3. The Lemma is proved.  $\square$

**Corollary 3.1.** *The following upper bounds for the rate of convergence of the sequence  $VarS_n^{(1)}$  hold:*

- for  $H \in (0, \frac{3}{4}]$ :

$$VarS_n^{(1)} = O\left(\frac{1}{n}\right), n \rightarrow \infty;$$

- for  $H \in (\frac{3}{4}, 1)$ :

$$VarS_n^{(1)} = O\left(\frac{1}{n^{4-4H}}\right), n \rightarrow \infty.$$

**Lemma 3.4.** *The variance  $VarS_n^{(2)}$  satisfies the following inequality:*

$$(24) \quad VarS_n^{(2)} \leq \frac{48c^2}{n} + \frac{2c^2K^2}{n^2} \sum_{p,q=1}^{\infty} \frac{1}{(p^2 + q^2)^2}, n \geq 1,$$

where

$$K = 4 \max_{H \in [0,1]} (H(1-H)(H^2 - 7H + 11)).$$

*Proof.* At the beginning, let us put  $C_n = \{1, 2, \dots, n\}^4$ ,  $n \geq 1$ ;

$$A_n = \{(k_1, j_1, k_2, j_2) \in C_n \mid |k_2 - k_1| \leq 1 \text{ or } |j_2 - j_1| \leq 1\},$$

$$B_n = \{(k_1, j_1, k_2, j_2) \in C_n \mid |k_2 - k_1| \geq 2 \text{ or } |j_2 - j_1| \geq 2\}.$$

Note that  $A_n \cup B_n = C_n$ ,  $A_n \cap B_n = \emptyset$ . Let  $card(M)$  be the number of elements of the finite set  $M$ . Let us count the number of elements of the set  $B_n$ . Since

$$card\{(k_1, k_2) \in \{1, 2, \dots, n\}^2 \mid |k_2 - k_1| \geq 2\} = n^2 - 3n + 2,$$

then

$$card(B_n) = (n^2 - 3n + 2)^2,$$

$$card(A_n) = n^4 - card(B_n) = (3n - 2)(2n^2 - 3n + 2) \leq 6n^3, n \geq 1.$$

Now, divide the amount on the right-hand side of equation (11) into two amounts. The first sum will include terms with summation indexes  $(k_1, j_1, k_2, j_2) \in A_n$ , and the second sum with summation indexes  $(k_1, j_1, k_2, j_2) \in B_n$ :

$$VarS_n^{(2)} = \frac{2}{n^4} \sum_{(k_1, j_1, k_2, j_2) \in A_n} (E(\Delta X(k_1, j_1) \Delta X(k_2, j_2)))^2 +$$

$$(25) \quad + \frac{2}{n^4} \sum_{(k_1, j_1, k_2, j_2) \in B_n} (E(\Delta X(k_1, j_1) \Delta X(k_2, j_2)))^2.$$

The first sum is estimated using the Cauchy–Buniakovsky inequality for mathematical expectation  $E(\Delta X(k_1, j_1) \Delta X(k_2, j_2))$ :

$$(E(\Delta X(k_1, j_1) \Delta X(k_2, j_2)))^2 \leq E(\Delta X(k_1, j_1))^2 E(\Delta X(k_2, j_2))^2.$$

In the proof of Lemma 3.1, it was established that for every  $k, j \geq 1$ :

$$E(\Delta X(k, j))^2 = 2c(2 - 2^H).$$

So

$$(E(\Delta X(k_1, j_1) \Delta X(k_2, j_2)))^2 \leq 4c^2(2 - 2^H)^2$$

and

$$(26) \quad \frac{2}{n^4} \sum_{(k_1, j_1, k_2, j_2) \in A_n} (E(\Delta X(k_1, j_1) \Delta X(k_2, j_2)))^2 \leq \frac{8c^2(2 - 2^H)^2}{n^4} \text{card}(A_n) \leq \frac{48c^2}{n}.$$

Let us proceed to the evaluation of the second sum of the right-hand side of equality (25). First, let us calculate the mathematical expectation of the product of increments  $\Delta X(k_1, j_1), \Delta X(k_2, j_2), k, j \geq 1$ . We get:

$$\begin{aligned} E(\Delta X(k_1, j_1) \Delta X(k_2, j_2)) &= \\ E \left( \sum_{\alpha_1, \beta_1=0}^1 (-1)^{\alpha_1+\beta_1} \Delta X(k_1 - \alpha_1, j_1 - \beta_1) \sum_{\alpha_2, \beta_2=0}^1 (-1)^{\alpha_2+\beta_2} \Delta X(k_2 - \alpha_2, j_2 - \beta_2) \right) &= \\ = \frac{c}{2} \sum_{\alpha_1, \beta_1=0}^1 (-1)^{\alpha_1+\beta_1} \sum_{\alpha_2, \beta_2=0}^1 (-1)^{\alpha_2+\beta_2} \left( ((k_1 - \alpha_1)^2 + (j_1 - \beta_1)^2)^H + \right. & \\ \left. + ((k_2 - \alpha_2)^2 + (j_2 - \beta_2)^2)^H - ((k_2 - k_1 + \alpha_2 - \alpha_1)^2 + (j_2 - j_1 + \beta_2 - \beta_1)^2)^H \right) &= \\ = -\frac{c}{2} \sum_{\alpha_1, \beta_1=0}^1 (-1)^{\alpha_1+\beta_1} \sum_{\alpha_2, \beta_2=0}^1 (-1)^{\alpha_2+\beta_2} \left( ((k_2 - k_1 + \alpha_2 - \alpha_1)^2 + \right. & \\ \left. + (j_2 - j_1 + \beta_2 - \beta_1)^2)^H \right). & \end{aligned}$$

Let us put  $p = k_2 - k_1, q = j_2 - j_1, 2 \leq |p|, |q| \leq n - 1$ . After summing similar terms in the last expression for  $E(\Delta X(k_1, j_1) \Delta X(k_2, j_2))$ , we get:

$$\begin{aligned} E(\Delta X(k_1, j_1) \Delta X(k_2, j_2)) &= -\frac{c}{2} \left( ((p-1)^2 + (q-1)^2)^H + ((p-1)^2 + (q+1)^2)^H + \right. \\ &+ ((p+1)^2 + (q-1)^2)^H + ((p+1)^2 + (q+1)^2)^H - 2(p^2 + (q-1)^2)^H - \\ &- 2(p^2 + (q+1)^2)^H - 2((p-1)^2 + q^2)^H - 2((p+1)^2 + q^2)^H + 4(p^2 + q^2)^H \left. \right). \end{aligned}$$

Consider the function

$$f(x, y) = (x^2 + y^2)^H, (x, y) \in [p-1, p+1] \times [q-1, q+1].$$

It is not difficult to verify by direct integration that

$$\begin{aligned} \sigma(p, q) &:= \int_{q-1}^q dy \int_y^{y+1} dt \int_{p-1}^p dx \int_x^{x+1} \frac{\partial^4 f(s, t)}{\partial s^2 \partial t^2} ds = \\ &= \left( ((p-1)^2 + (q-1)^2)^H + ((p-1)^2 + (q+1)^2)^H + ((p+1)^2 + (q-1)^2)^H + \right. \\ &+ ((p+1)^2 + (q+1)^2)^H - 2(p^2 + (q-1)^2)^H - 2(p^2 + (q+1)^2)^H - \\ &- 2((p-1)^2 + q^2)^H - 2((p+1)^2 + q^2)^H + 4(p^2 + q^2)^H \left. \right). \end{aligned}$$

So,

$$E(\Delta X(k_1, j_1)\Delta X(k_2, j_2)) = -\frac{c}{2} \int_{q-1}^q dy \int_y^{y+1} dt \int_{p-1}^p dx \int_x^{x+1} \frac{\partial^4 f(s, t)}{\partial s^2 \partial t^2} ds.$$

The partial derivative of the fourth order is equal to

$$\begin{aligned} \frac{\partial^4 f(x, y)}{\partial x^2 \partial y^2} &= 4H(H-1)(x^2 + y^2)^{H-2} + 8H(H-1)(H-2)(x^2 + y^2)^{H-2} + \\ &+ 16x^2 y^2 H(H-1)(H-2)(H-3)(x^2 + y^2)^{H-4}. \end{aligned}$$

To evaluate this partial derivative, we apply the inequality

$$x^2 y^2 \leq \frac{1}{4} (x^2 + y^2)^2, \quad x, y \in R.$$

Then for  $p, q \geq 2$

$$\begin{aligned} &\max_{(x, y) \in [p-1, p+1] \times [q-1, q+1]} \left| \frac{\partial^4 f(x, y)}{\partial x^2 \partial y^2} \right| \leq \\ &\leq 4H(1-H)(H^2 - 7H + 11) ((p-1)^2 + (q-1)^2)^{H-2} \leq \\ &\leq K ((p-1)^2 + (q-1)^2)^{H-2}, \end{aligned}$$

where  $K = 4 \max_{H \in [0, 1]} (H(1-H)(H^2 - 7H + 11))$ .

Therefore, for  $p, q \geq 2$

$$(\sigma(p, q))^2 \leq K^2 ((p-1)^2 + (q-1)^2)^{2H-4}.$$

Similarly as in the proof of Lemma 3.3, the next equality is justified

$$\begin{aligned} &\sum_{(k_1, j_1, k_2, j_2) \in B_n} (E(\Delta X(k_1, j_1)\Delta X(k_2, j_2)))^2 = \\ &= \frac{c^2}{4} \sum_{|p|, |q|=2}^{n-1} (n-|p|)(n-|q|)(\sigma(p, q))^2. \end{aligned}$$

Since the value  $\sigma(p, q)$  is invariant with respect to changing the signs of the variables  $p, q$ , then

$$\begin{aligned} &\sum_{(k_1, j_1, k_2, j_2) \in B_n} (E(\Delta X(k_1, j_1)\Delta X(k_2, j_2)))^2 = \\ &= c^2 \sum_{p, q=2}^{n-1} (n-p)(n-q)(\sigma(p, q))^2. \end{aligned}$$

So,

$$(27) \quad \begin{aligned} &\frac{2}{n^4} \sum_{(k_1, j_1, k_2, j_2) \in B_n} (E(\Delta X(k_1, j_1)\Delta X(k_2, j_2)))^2 \leq \\ &\leq \frac{2c^2 K^2}{n^2} \sum_{p, q=2}^{n-1} \frac{1}{((p-1)^2 + (q-1)^2)^{4-2H}} < \frac{2c^2 K^2}{n^2} \sum_{p, q=1}^{\infty} \frac{1}{(p^2 + q^2)^2}. \end{aligned}$$

The inequality (24) follows from relations (25), (26), (27). The Lemma is proved.  $\square$

**Corollary 3.2.** For all values of the Hurst parameter  $H \in (0, 1)$ , the following upper bound for the rate of convergence of the sequence of variances  $\text{Var}S_n^{(2)}$  holds:

$$\text{Var}S_n^{(2)} = O\left(\frac{1}{n}\right), \quad n \rightarrow \infty.$$

4. CONSISTENT ESTIMATES OF THE MULTIPLICATIVE PARAMETER  $c$  AND THE HURST PARAMETER  $H$ 

**Theorem 4.1.** *The statistics*

$$\widehat{C}_n = S_n^{(1)} \quad \text{and} \quad \widehat{H}_n = \log_2 \left( 2 - \frac{S_n^{(2)}}{2S_n^{(1)}} \right), n \geq 1$$

are consistent estimators of the multiplicative parameter  $c$  and the Hurst parameter  $H$ , respectively.

*Proof.* From Consequences 3.1 and 3.2 follow the following convergences

$$S_n^{(1)} \rightarrow c, \quad S_n^{(2)} \rightarrow 2c(2 - 2^H)$$

with probability one as  $n \rightarrow \infty$ . Then

$$\widehat{C}_n \rightarrow c \quad \text{and} \quad \widehat{H}_n \rightarrow \log_2 \left( 2 - \frac{2c(2 - 2^H)}{2c} \right) = H$$

with probability one as  $n \rightarrow \infty$ . The Theorem is proved.  $\square$

**Theorem 4.2.** *The statistics*

$$\widetilde{C}_n = S_{2^n}^{(1)} \quad \text{and} \quad \widetilde{H}_n = \log_2 \left( 2 - \frac{S_{2^n}^{(2)}}{2S_{2^n}^{(1)}} \right), n \geq 1$$

are strongly consistent estimators of the multiplicative parameter  $c$  and the Hurst parameter  $H$ , respectively.

*Proof.* The following upper bounds for the rate of convergence of the sequence  $S_{2^n}^{(1)}, S_{2^n}^{(2)}$  follow from Consequences 3.1 and 3.2:

$$\text{Var} S_{2^n}^{(1)} = O \left( \frac{1}{2^n} \right), n \rightarrow \infty \quad \text{for} \quad H \in \left( 0, \frac{3}{4} \right];$$

$$\text{Var} S_{2^n}^{(1)} = O \left( \frac{1}{2^{n(4-4H)}} \right), n \rightarrow \infty \quad \text{for} \quad H \in \left( \frac{3}{4}, 1 \right);$$

$$\text{Var} S_{2^n}^{(2)} = O \left( \frac{1}{2^n} \right), n \rightarrow \infty \quad \text{for all} \quad H \in (0, 1).$$

From these relations follows the convergence of the series

$$\sum_{n=1}^{\infty} \text{Var} S_{2^n}^{(1)}, \sum_{n=1}^{\infty} \text{Var} S_{2^n}^{(2)}$$

for all  $H \in (0, 1)$ . As a result,  $S_{2^n}^{(1)} \rightarrow c$  and  $S_{2^n}^{(2)} \rightarrow 2c(2 - 2^H)$  with probability one as  $n \rightarrow \infty$ . Therefore,  $\widetilde{C}_n \rightarrow c$  and  $\widetilde{H}_n = \log_2 \left( 2 - \frac{S_{2^n}^{(2)}}{2S_{2^n}^{(1)}} \right) \rightarrow H$  with probability one as  $n \rightarrow \infty$ . The Theorem is proved.  $\square$

## 5. CONCLUSION

In this article we obtained the consistent estimators of the multiplicative parameter  $c$  and the Hurst parameter  $H$  of the covariance function of the multiparameter fractional Brownian motion.

## REFERENCES

1. N. S. Aiubova, *Estimation of parameters of the Fractional Brownian Motion by observations with errors and confidence intervals*, Scientific Bulletin of Uzhhorod University. Series Mathematics and Informatics. **2 (31)** (2017), 10–14.
2. L. Isserlis, *On a formula for the product-moment coefficient of a normal frequency distribution in any number of variables*, Biometrika **12** (1918), 134–139. <https://doi.org/10.1093/biomet/12.1-2.134>
3. Yu. V. Kozachenko and O. O. Kurchenko, *An estimate for the multiparameter FBM*, Theory of Stoch. Processes **5 (21)** no. 3–4, (1999), 113–119.
4. A. Malyarenko, *An Optimal Series Expansion of the Multiparameter Fractional Brownian Motion*, J. Theor. Probab. **21** (2008), 459–475. <https://doi.org/10.1007/s10959-007-0122-x>
5. I. Nurdin, *Selected Aspects of Fractional Brownian Motion*, Bocconi University Press. Springer-Verlag Italia, 2012. <https://doi.org/10.1007/978-88-470-2823-4>
6. M. Talagrand, *Hausdorff Measure of Trajectories of Multiparameter Fractional Brownian Motion*, The Annals of Probability **23**, no. 2, (1995), 767–775. <https://doi.org/10.1214/aop/1176988288>
7. M. Talagrand, *Multiple Points of Trajectories of Multiparameter Fractional Brownian Motion*, Prob. Theory Relat. Fields **112** (1998), 545–563. <https://doi.org/10.1007/s004400050200>

NATIONAL TARAS SHEVCHENKO UNIVERSITY OF KYIV, THE FACULTY OF MECHANICS AND MATHEMATICS, 60 VOLODYMYRSKA STREET, KYIV, UKRAINE, 01033

*Current address:* 60 Volodymyrska St., Kyiv, Ukraine

*E-mail address:* [oleksandrkurchenko@knu.ua](mailto:oleksandrkurchenko@knu.ua), <https://orcid.org/0000-0002-0417-5970>

UZHGOROD NATIONAL UNIVERSITY, DEPARTMENT OF PROBABILITY THEORY AND MATHEMATICAL ANALYSIS, 14 UNIVERSYTETSKA STREET, UZHGOROD, UKRAINE, 88000

*Current address:* Uzhhorod, 14 Universytetska St.

*E-mail address:* [olga.syniavska@uzhnu.edu.ua](mailto:olga.syniavska@uzhnu.edu.ua), <https://orcid.org/0000-0002-2711-3940>